
1860 5 3

1940 10 11



1860 5 3

1940 10 11



1878

1881 F (x) I

1882

1892

1905

1917

1922 10



1931

1932

1931

1938

1940 10

1881

1940

φ1 φ2 · · · φn y y(φ1, φ2, · · · , φn)

φ1 φ2 · · · φn

φx x

y φ(x) x

1883

1887

1887

n L

xi = φi(t) (i = 1 2 · · · n) L

y y L y φi

1890



1892 1894

X

1896

φ(y) = f(y) +

∫ b

a

f(x)S(x, y)dx

φ(y) = f(y) +

∫ y

a

f(x)S(x, y)dx

f

f(y) = φ(y) +

∫ y

a

φ(x)T (x, y)dx

T (x, y)

S(x, y)

θ(y)− θ(a) =

∫ y

a

ψ(x)H(x, y)dx

ψ

1898



1905 1906

1909

1910

F (x, y) Φ(x, y)
∫
F (x, ξ)Φ(ξ, y)dξ

x y

a b

F Φ



δ

1936

[1] 5
1954 1962

[2]

1913

[3]
1924

[4]
1930

[5]
3 1941 691 729

[6]
1947

[7]
1960


